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&5z K £ NET HDCP TOTAL ouT I'N OUT NET [[ELhvA K % NET HDCP TOTAL ouT I'N OUT NET

B B =5 Em 67.0 21.0 88 ( 45 43 ) 34.5 B B NHB 04.0 23.0 87 ( 44 43 ) 325
207 N BT 67.0 12.0 79 ( 41 38 ) 35.0 26 W = 65.0 19.0 84 ( 43 41 ) 335
3 HEZEZ 68.0 12.0 80 ( 472 38 ) 36.0 L N = 066.0 20.0 86 ( 44 42 ) 34.0
457 EMRRBB= 70.0 12.0 82 ( 472 40 ) 36.0 A BIR & 67.0 21.0 88 ( 45 43 ) 345
b B EH 71.0 16.0 87 ( 472 45 ) 34.0 S FAA S 68.0 23.0 91 ( 44 47 ) 325
TR  EED % 71.0 16.0 87 (44 43 ) 360 TR EK mE 68.0 300 98 (49 49 ) 340
106 A & 71.0 5.0 76 ( 39 37 ) 365 1060 FEE XK 69.0 10.0 79 (41 38 ) 360
156 FIRE HE 74.0 18.0 92 ( 39 53 ) 300 156, M 15 70.0 220 92 (49 43 ) 380
200 B AT 76.0 13.0 89 ( 44 45 ) 375 200 @AH FF 71.0 26.0 97 (54 43 ) 410
2507 fRELE = 78.0 17.0 95 (46 49 ) 375 250 ¥ F3A 73.0 20.0 93 (45 48 ) 350
30k AR EE 80.0 20.0 100 ( 50 50 ) 400 30k RE EZ 74.0 18.0 92 (42 50 ) 330
350  MA 82.0 11.0 93 (49 44 ) 435 350 KIZ #H=% 74.0 15.0 89 ( 46 43 ) 385
40K 1EB BT 76.0 300 106 ( 50 56 ) 350
45F AKX = 79.0 220 101 (52 49 ) 410
BBE  # #H— 93.0 220 115 ( 57 58 ) 460 BBY &A BE&F 820 30.0 112 ( 54 58 ) 390
BGE MA & 76 (39 37 ) Par 72 I—XL—bk  RO—=TL—bh

BE(E) 6,606 vyard 71.3 128

BH(H) 6,237 yard 69.5 123

B(&£) 5892 vyard 68.1 119

B(FR) 5,281 yard 64.9 114

ZE(FR) 5,281 yard 70.1 123

ZMEMK) 5,185  yard 69.5 123




